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KE1-2> ZAF THAF (A1) AH)

(HA - H, %)

01. 71 A% 155 150 96.8
02. 71 A1 A 2 137 137 100.0
03. HFIERY 23} 141 126 89.4
04. Z=d s &4 121 119 98.3
05. 2=t} 144 133 924
06. #2714 = 303 159 525
07. 7174 B3} 159 91 572
08. A=t 134 116 86.6
09. A1 g2 7} 127 126 99.2
10. B 13} 122 101 82.8
11. HFEA =3 122 98 80.3
12. B34 3% 116 ) 68.1
13. A A2 115 114 99.1
14. A& 98 97 99.0
15. Az 132 109 82.6
16. 3} %74 3} 151 150 99.3
17. 54508354 134 131 97.8
18. ¥ 206 202 98.1
19. F¥78 4% 167 129 772
20. #2742 131 118 90.1
21 s 93 130 120 92.3
22. WA 3} 119 117 98.3
23. Ard Al 73 72 98.6
24. A G A 80 78 975

7 3,317 2,872 86.8
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71 Al 2 144 96.0 6 4.0 150 100.0

71 A4 A 2 124 90.5 13 9.5 137 100.0
H7IE 2 Y A3} 123 97.6 3 24 126 100.0
248 Ft 93 82.4 21 17.6 119 100.0
A5 2} 3} 132 99.2 1 0.8 133 100.0
& 71 A% 154 96.9 5 3.1 159 100.0
7174 Bt 86 94.5 5 55 91 100.0
=R =Rt 110 94.8 6 5.2 116 100.0
BEEA 3} 97 77.0 29 23.0 126 100.0
5 g 1t 7 76.2 24 23.8 101 100.0
A FE A 283 74 75.5 24 245 98 100.0
Engd 3 71 89.9 8 10.1 79 100.0
AP 85 74.6 29 254 114 100.0
753 70 72.2 27 27.8 97 100.0
A= 65 59.6 44 40.4 109 100.0
shx 74 3 118 8.7 32 21.3 150 100.0
wS A5 121 92.4 10 7.6 131 100.0
el I 6 3.0 196 97.0 202 100.0
374 33 25.6 96 74.4 129 100.0
g7 50 42.4 68 576 118 100.0
A= IR 33 215 87 72.5 120 100.0
H] A 3} 0 0 117 100.0 117 100.0
A ARl 21 29.2 51 70.8 72 100.0
AT 2l 2t 26 33.3 52 66.7 8 100.0
A 1,918 66.8 954 33.2 2,872 100.0
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(1) ¥+ 194 o]st 2,043 71.1
(2) ¥+ 20-24A) 744 25.9
(3) ¥+ 25-294 71 25
(4) 7+ 30-394 10 0.3
(5) "+ 40A] o] 4 0.1

A 2,872 100.0

<H2-3>0M 2= otk 20 A0l CHoll AIHEH B 19Al 0I5t 71.1%2 HREE= XX
ot CIS22Z Bt 20-24 M0t 25.9%, Bt 25-29AI0t 2.5%, Bt 30-39KMIJt 0.3% S& =2=&2
LIEHSECEH
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63.9

579

67.0

7.9

63.5

79.2

76.5

9.7

76.3

82.5

70.6
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2,872
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100.0

100.0
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100.0
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35.0 333

32
30.0

250

20.0

16.2

15.0

10.0
6.8 6.6

46

5.0

1.7
0.3 0.2

.
(WME RITE 3 BTIE@SHEE HAEE) FYEMAFEE TEE 9243

0.0

<H2-5> FUSEHS AF=X

(S, %)

D T e
(1) A& 467 163
@ A 957 333
3 A71= 869 30.3
4 4= 194 6.8
B) A= 190 6.6
6) 4= 131 4.6
D) AFE 9 0.3
® 2= 49 17
© 9% 6 0.2
7 2872 100.0

<H2-5>0IA 2= et 201 eSS4 HAFX0 CHoll 4THEH 1M0| 33.3%= IHE
=0l UEtR D G822 ZIIEIF 30.3%, NS0l 16.3%, SEEJ 6.8% S2 =22 LIEtR
Ct.
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(G2l : H, %)

71 A3 28 187 48 320 44 293 8 5.3 12 80 8 5.3 0 0 2 13 0 0 150 100.0

71 A3 A 3 15 109 49 358 50 365 9 6.6 9 6.6 4 2.9 1 0.7 0 0 0 0 137 100.0
HEZY 23} 9 71 46 365 35 2718 14 111 13 103 5 4.0 0 0 4 32 0 0 126 100.0
ERERE 25 210 54 454 23 193 7 59 5 4.2 3 25 2 1.7 0 0 0 0 119 100.0
A5 k3 27 203 44 331 45 338 5 38 6 45 3 2.3 0 0 3 2.3 0 0 133 100.0
271 A% 29 182 36 226 62 390 8 5.0 10 63 13 82 0 0 1 0.6 0 0 159 100.0
71483 5 55 24 264 29 319 14 164 12 132 3 33 0 0 4 44 0 0 91  100.0
yAg A4} 14 121 52 448 38 328 5 4.3 2 1.7 3 2.6 0 0 2 1.7 0 0 116 100.0
AHEA I} 21 214 4 429 34 210 3 24 4 3.2 3 24 0 0 1 0.8 0 0 126 100.0

AR} 18 178 32 317 31 307 3 3.0 5 5.0 8 79 1 1.0 3 3.0 0 0 101 100.0

A A 253 15 153 40 408 34 347 3 31 4 4.1 2 2.0 0 0 0 0 0 0 98 1000

EZgA3} 7 89 38 481 27 342 1 1.3 2 25 0 0 0 0 4 51 0 0 79 100.0

AL 24 211 4 36.0 34 298 5 44 6 5.3 1 0.9 0 0 3 26 0 0 114 100.0

A% 22 227 32 330 32 33.0 1 1.0 8 8.2 0 0 0 0 2 2.1 0 0 97 100.0
A%t 8 73 60 55.0 32 29.4 1 0.9 4 3.7 3 2.8 0 0 1 0.9 0 0 109 100.0
@743 14 93 47 313 28 187 32 213 22 147 6 4.0 0 0 1 0.7 0 0 150 100.0
ERR S 19 145 57 435 32 244 10 76 6 46 2 15 0 0 3 2.3 2 15 131 100.0
gt 4 218 20 99 57 282 21 104 16 79 34 168 2 1.0 5 25 3 15 202 100.0
B39 18 140 31 240 30 233 15 116 21 163 11 85 1 0.8 2 16 0 0 129 100.0
H47 4 23 195 34 288 40 339 4 34 8 6.8 7 59 1 0.8 1 0.8 0 0 118 100.0
97493 25 208 36 30.0 45 375 7 58 3 25 3 25 0 0 0 0 1 0.8 120 100.0

RS 29 248 24 205 42 359 9 77 3 2.6 4 34 1 0.9 5 43 0 0 117 100.0

Aol st 14 194 28 389 22 306 3 4.2 2 28 2 2.8 0 0 1 14 0 0 72 100.0

ERERE 8 103 30 385 23 295 6 77 7 9.0 3 3.8 0 0 1 13 0 0 78 100.0

bl 467 163 957 333 89 303 194 68 190 66 131 46 9 03 49 17 6 0.2 2872 100.0
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(4) 2l et X| Al gsEs
60.0
g | 410
200
30.0
19.7
20.0 15.0

<H2-7> 2l Uist X3 Al gstdd

P %)

r

o
40

(1) Lutabg =42 1,376 479
2) deAgEd= 565 19.7
(3) 5717 B (e13h 210 7.3
(4) SN2 D (N3] A3 36 1.3
(6) LA (A 431 15.0
6) FAEHTE 70 2.4
() FHARE 37 1.3
(8) didfEel g4 33 11
9) Ad=04% 16 0.6
(10) AAANGHLE 98 34

il 2,872 100.0

<H2-7>0AM 2= diet 201 22l e X3 Al &80l tHoll 4THEYS et NEEH
It 47.9%=2 DEt== JH0] &R0 HEUHE S At =

9
HE(UHE)0] 7.3%, ALHASHXEE 0| 3.4% S =22 LIEFRC
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<H2-8> 22l Us X3 Al Ystdd STt B2

1A% 00 B3 0 20 6 40 4 2T 2 14 2 33 20 5 33 0 0 20 133150 1000

1A A% 8423 39 R85 4 29 2 15 0 4§ 2 15 2 15 0 0 0 0 10 73 13T 1000

HAERZY 25 a 25 % 204 4 32 2 16 24 19 2 16 3 24 1 08 0 0 12 95 126 1000

A8 6@ 51 3 3l 4 34 0 0 4 u& 1 08 0 0 1 08 0 0 0 0 119 1000

R 8 %l % B3 7T 53 1 08 2 65 2 15 3 23 0 0 0 0 513 138 1000
37143 B N8 H N8 B 94 1 06 24 11 3 19 3 19 10 63 5 31 16 101 159 1000
RMELES o7 % W6 2 2 2 22 19 09 2 2 1 LI 2 22 0 0 0 09 100
EREREE B &7 % w6 6 52 2 L 1T M7 3 26 2 17 1 09 0 0 0 0 16 1000
AREN} 6L 484 24 190 10 79 1 08 2B & 3 24 1 08 0 0 1 08 0 0 1% 1000
A us a7 65 15 149 8 79 1 10 2B 2& 3 30 3 30 0 0 1 10 0 0100 1000

AFEA2H 51 52 17 173 1 0 4 4 20 204 3 31 1 0 0 0 1 10 0 0 98 1000

E5#73 ¥ b6 B W1 225 1 13 15 19 13 0 0 1 13 0 0 0 01 1000

FeAg4us 5 414 n 254 6 53 1 09 2 19 2 80 0 0 0 0 0 0 0 14 1000

A%3 500 ®6 18 186 3 31 0 0 2 26 3 31 1 10 0 0 0 0 0 0 97 100
Azt 0 %7 B w9 2 18 4 37 I8 K5 3 28 2 18 0 0 0 0 5138 109 1000
d3873% 6 #3 B 187 8 53 0 0 24 160 4 27 2 13 9 60 0 0 10 67 150 1000
FEAgY oS3 U B0 4 31 2 15 % Wl 3 2 1 08 2 15 2 1500 0 13 1000
F3e3% m %0 10 50 5 %7 1 05 13 64 9 45 1 05 1 05 2 00 0 22 1000
33499 0w 75 8 62 53 0 0 8 62 4 31 4 31 0 0 0 0 0 0 19 1000
#4495 6 56 20 W8 1 44 0 0 7 59 4 34 0 0 0 0 1 08 0 0 18 1000
59793 083 6 50 A4 N0 0 0 13 W& 3 25 1 08 0 0 325 0 0 120 1000

LRk 8 M4 8 68 9 77 0 0 0 8 3 26 0 0 0 0 0 0 0 0 17 1000

REEENE] 9 64 16 22 7 97 6 8 19 %4 3 42 2 28 0 0 0 0 0 0 ™ 100

A4zl s N B 6 7 226 1 L 7 9% 2 26 1 30 0 0 0 0 0 8 1000

bl 13 479 56 197 20 73 % L3 431 IS 024 w1303 11 16 06 9% 342812 1000
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(5) E& NSsWO A

400
35.0
30.0
25.0
20.0
15.0
10.0
50 L 16
0.0 - I
> 0
¥ ]
2 @
12, w5
& ;
F &
R
o
<H?2-9> &4l DS&tWol Hg
(HA - H, %)
(1) gita/A&5 &9 1,021 35.6
(2) Quts/AEs ol 3} 905 515
(3) =43 79 277
4) 5253 15 05
(5) HA A 88 3.1
6) 7€ 47 16
&7 2,872 100.0

<H2-9>0M 2= ditet 201 24 0sstuol A
35.6%=2 JtE = UEHED Os522 detn/IUE1
DAIIE31% S8 =22 UEEC.
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717 3 31 20.7 48 32.0 61 40.7 0 0 10 6.7 0 0 150 100.0

71 A 3 30 219 53 38.7 49 35.8 1 0.7 3 2.2 1 0.7 137 100.0
W ERY £ 3} 13 10.3 54 429 55 437 0 0 4 3.2 0 0 126 100.0
2238 ¢ 33 217 46 38.7 37 311 0 0 2 1.7 1 0.8 119 100.0
A& A3k 22 16.5 36 271 69 51.9 1 0.8 2 1.5 3 2.3 133 100.0
37145 31 19.5 38 239 73 459 1 0.6 10 6.3 6 38 159 100.0
71483t 20 22.0 35 385 34 374 1 1.1 1 1.1 0 0 91 100.0
oA = Az 17 14.7 58 50.0 39 33.6 0 0 0 0 2 1.7 116 100.0
AR} 33 26.2 60 476 31 246 0 0 2 1.6 0 0 126 100.0
AFE AR 26 257 48 475 26 257 0 0 1 1.0 0 0 101 100.0

AireA =5l 20 204 51 52.0 22 224 1 1.0 2 2.0 2 2.0 98 100.0

B 18 228 35 44.3 25 316 0 0 0 0 1 1.3 79 100.0

FeAY QR 43 377 32 28.1 33 289 1 0.9 3 2.6 2 1.8 114 100.0

A% 30 309 38 392 23 237 0 0 6 6.2 0 0 97 1000
AYA ] 33 303 24 220 47 431 2 18 2 18 1 09 | 109 1000
33373} 34 227 65 433 40 267 0 0 6 4.0 5 33 150  100.0
F4A R} 29 221 75 513 21 160 1 0.8 0 0 5 38 131 100.0
g3eaa 133 658 36 178 12 59 1 05 13 6.4 7 35 | 202 1000
3499 88 682 24 186 11 85 1 0.8 4 3.1 1 08 | 129 1000
#3797 77 653 10 85 24 203 0 0 3 25 4 34 | 118 1000
9795 8 708 11 9.2 4 117 4 3.3 4 3.3 2 17 120 100.0

H] A 3} 93 795 9 77 11 9.4 0 0 2 1.7 2 17 117 1000

HEEREE 31 431 9 125 29 403 0 0 3 42 0 0 72 1000
RO 51 654 10 128 10 128 0 0 5 6.4 2 26 | 78 1000
B 1,021 356 905 315 796 277 15 05 83 3.1 47 16 | 2872 1000
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26

(3)ef== Ol

<H2-11> M=+ 38

) 43 9 2,433 84.9
2) Al 360 125
@) 2 013 74 2.6
A 2872 100.0
<H2-11>00A 2= B2 201 M= 20l tHoll 2HES IS RS0l 84.9%2 HHREESE &
KXot LD TH==IF 12.5%, &%= 010l 2.6% =22 U Ct.
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71 A 3

71 A2 A =}

H7tE R Y 2~ 3}

Bl

#3574}

&3 71 A %

A7 B3}

EREEEE!

] A 3}

EEEETE
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A

114
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88

90
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98

100

53

67

2,438

90.5

88.2
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81.8

83.5

82.8

83.3

83.2

81.6

87.3

86.0

90.7

82.6

84.0

80.2

89.9

85.6

85.5

73.6

85.9

84.9

360

79

9.2

75

16.4

13.2

14.7

10.3

12.9

16.3

11.4

12.3

6.2

174

12.7

145

18.3

10.1

12.7

15.8

12.0

20.8

9.0

125

4

3.3

2.6

6.3

4.0

2.0

3.3

3.8

25

26

5.6

5.1

2.6

137

126

119

133

159

91

116

126

101

98

79

114

97

109

150

131

202

129

118

120

117

72

8

2,872

100.0

100.0

100.0

100.0

100.0

100.0

100.0

100.0

100.0

100.0

100.0

100.0

100.0

100.0
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100.0
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714 3% 132 88.0 8 5.3 1 0.7 3 2.0 6 4.0 150 100.0

71 A A3} 120 87.6 6 4.4 3 2.2 7 51 1 0.7 137 100.0

I EZ Y A5 115 91.3 4 3.2 3 2.4 3 24 1 0.8 126 100.0

A8 3t 104 874 5 4.2 2 1.7 4 34 4 34 119 100.0
A2k 118 88.7 4 3.0 3 2.3 4 3.0 4 3.0 133 100.0
g7 A3k 132 83.0 9 5.7 5 3.1 9 5.7 4 2.5 159 100.0
A7 B 76 83.5 6 6.6 1 11 4 4.4 4 44 91 100.0
ER=Eba 97 83.6 9 7.8 0 0 8 6.9 2 1.7 116 100.0
BRENT} 104 82.5 10 79 4 3.2 7 56 1 0.8 126 100.0
AFUA R 83 82.2 6 5.9 4 4.0 4 40 4 4.0 101 100.0

BireA 23 80 81.6 3 3.1 1 1.0 11 11.2 3 3.1 98 100.0
E5373 68 86.1 5 6.3 1 1.3 3 3.8 2 2.5 79 100.0

FeA e R 95 83.3 4 35 5 44 3 2.6 7 6.1 114 100.0

a5 89 91.8 4 41 1 1.0 2 21 1 1.0 97 100.0
Az st 94 86.2 2 1.8 5 4.6 6 55 2 1.8 109 100.0
33873t 128 85.3 7 4.7 7 4.7 2 1.3 6 4.0 150  100.0
R 106 80.9 11 84 2 1.5 6 46 6 46 131 100.0
PR 160 79.2 25 12.4 4 2.0 5 2.5 8 4.0 202 100.0
3393 114 88.4 4 3.1 4 3.1 1 0.8 6 4.7 129 100.0
w3733 99 83.9 8 6.8 3 2.5 4 34 4 3.4 118 100.0
47393 97 80.8 9 75 7 5.8 3 25 4 3.3 120 100.0

H] A 3} 97 82.9 11 9.4 4 34 4 34 1 0.9 117 100.0

Al T ARl 3t 53 73.6 8 11.1 1 1.4 8 11.1 2 2.8 72 100.0
RN 66 84.6 3 3.8 3 3.8 4 51 2 26 78 100.0
A 2427 845 171 6.0 74 2.6 115 4.0 85 3.0 | 2872 100.0
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9.5

10.3

11.9

6.1

89

11.4

6.2

5.5

6.0

9.9

2.5

51

5.0

3.4

9.7

3.8

7.7

126

119

133

159

91

116

126

101

938

79

114

97

109

150

131

202

129

118

120

117

72

8

2,872

100.0

100.0

100.0

100.0

100.0

100.0

100.0

100.0

100.0

100.0

100.0

100.0

100.0

100.0

100.0

100.0

100.0

100.0

100.0

100.0

100.0

100.0

100.0
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(2) el tiE X JHE %2 &S & A

50.0 454
450
40.0
35.0
30.0
25.0
20.0
15.0

234

9.2

7.0 6.7
10.0 47
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ofe

<H2-31> 2cl s X0 tE @2 S

(S, %)

D T e
(1) B= 671 23.4
@) AA, A 136 47
3) A 56 19
4) AT 265 9.2
) A 202 7.0
6) A A 46 1.6
(7 3l 1,305 454
®) 71e 191 6.7
A 2872 100.0

<H2-31>0AM 2= Hi2 201 22l tHer X0 JtE B2 dg= & AE0l Uoll 22
B =010| 45.4%2 Bt IOl SIA D F2ItF 23.4%, &It 9.2%, SWEHME0| 7.0%,
SM, XtOHOH 4.7%, &HH0E 1.9% S2 =22 UEHSC.
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<H2-32> 2l s N0 JtE @22 g

1o
P
>

U
=S
o
o
fd
[
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i
H

—

ctel g, %)

7173 30 200 4 27 4 27 22 147 9 60 0 0 74 493 7 47 150 1000

71 A% 3 34 248 3 22| 4 29 7 51 13 95 1 07 61 445 14 102 137 1000
WAERY 23} 27 214 6 48 3 24 18 143 14 111 1 08 48 381 9 71 126 100.0
EREDE 33 319 6 50 5 42 10 84 5 420 0 50 420 5 42 119 1000
2 4 33 248 3 23 1 08 12 90 11 83 1 08 61 459 11 83 133 1000
37173 48 302 9 57 2 13 12 75 18 113 1 06 63 396 6 38 159 100.0
A7 A 03} 21 231 6 66 3 33 12 132 7 771 L1 31 341 10 110 91 1000
BRI 24 207 7 60 1 09 10 86 9 78 1 09 57 491 7 60 116 1000
AR} 21 214 7 56 0 0 4 32 5 40 2 16 71 563 10 79 126 1000
AFE AR 26 257 3 30 1 10 4 40 4 40 0 0 50 495 13 129 101 1000
AFEA 253 20 204 6 61 1 10 6 61 11 112 0 0 48 490 6 61 98 1000
EE#AH 19 241 1 13 1 13 7 89 7 89 3 38 36 456 5 63 79 1000
FIAYA R 3% 316 7 61 2 18 10 88 6 53 1 09 4 360 11 96 114 1000
A% 19 196 8 82 0 0 9 93 10 103 2 21 39 402 10 103 97 1000
EAVEE 19 174 7 64 1 09 7 64 8 731 09 63 5718 3 28 109 1000
3397 4 293 6 40 1 07 21 140 6 40 2 13 57 380 13 87 150 1000
FE&A g3} 32 244 6 46 1 08 11 84 17 130 2 15 49 374 13 99 131 1000
23 54 267 7 35 8 40 12 59 6 30 6 30 102 505 7 35 202 1000
#3797 3 256 4 31 6 47 7 54 9 70 7 54 60 465 3 23 129 1000
#7493 16 136 9 76 1 08 16 136 3 25 1 08 67 568 5 42 118 1000
FdA9 21 175 8 67 7 58 19 158 5 42 6 50 50 417 4 33 120 1000
RRE 19 162 6 51 0 0 18 154 7 60 5 43 56 479 6 51 117 1000
eiriAel 15 208 3 42 3 42 5 69 4 56 1 14 35 486 6 83 72 1000
EEERRE 16 205 4 51 0 0 6 778 103 1 13 36 462 7 90 78 1000
A 671 234 136 47 56 19 265 92 202 70 46 16 1305 454 191 67 2872 1000
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350
30.0
250
200 174
15.0

298

181

91

7.6
10.0 56 6.6 5.7
5.0

<H2-41> 2cl Hets d88 It 2 0IR

(HA - H, %)

(1) FuAE= 500 174
2) 9 ArgES A 160 5.6
(3) A4 2= g 521 18.1
@) A% 857 29.8
(6) B4 261 9.1
6) &3tA e 189 6.6
(N ZaAs 219 7.6
(8) 71& 165 5.7

A 2,872 100.0

2 0l=0il CHolf &THEH FHPYHY
01 29.8%%2 & =0 HL0 &= St 18.1%, SWABEI 17.4%, &H 0| 9.1%, &eH

3|01 7.6% S8 =22 UEIRLH
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717 3} 2 147 12 80 15 100 75 500 12 80 5 33 4 27 5 33 150 1000
UEERED 25 182 8 58 29 212 41 299 16 1.7 8 58 2 15 8 58 137 1000
H7hERY 25 23 183 6 48 17 135 53 421 8 63 3 24 6 48 10 79 126 1000
ERE DR 42 B3 7 59 8 67 8 67 28 235 16 134 3 25 7 59 119 1000
2 4 25 188 7 53 32 241 31 233 15 113 6 45 10 75 7 53 133 1000
&371A% 6 101 13 82 21 132 79 97 7 44 2 13 18 113 3 19 159 1000
GHELED 4 154 9 99 13 143 34 374 5 55 5 55 2 229 99 91 100.0
BRI 6 138 5 4310 86 50 431 10 86 13 112 5 43 7 60 116 1000
AR} 23 183 6 48 13 103 26 206 23 183 14 111 4 32 17 135 126 1000
AFE AR 15 149 4 40 24 238 23 228 12 119 10 99 2 20 11 109 101 1000
AFE A 283 12 122 3 31 14 143 20 204 21 214 15 153 3 31 10 102 98 1000
EEH7 3} 6 203 8 101 7 89 13 165 16 203 15 190 2 25 2 25 79 1000
FFAYA R 28 246 9 79 10 88 22 193 21 184 7 61 5 44 12 105 114 1000
A% 17 175 3 31 15 155 13 134 12 124 17 175 7 72 13 134 97 1000

A AZ3 21 193 4 37 36 330 13 19 7 64 12 110 10 92 6 55 109 1000
R 21 140 12 80 16 107 69 460 13 87 5 33 4 27 10 67 150 1000
FEA R} 26 198 8 61 11 84 42 321 22 168 13 99 6 46 3 23 131 1000
23 19 94 8 40 43 213 69 3420 0 0 1 05 61 302 1 05 202 1000
#3797 12 93 3 23 40 310 43 333 0 0 1 08 29 225 1 08 129 1000
#7493 27 29 3 25 33 280 35 297 4 34 3 25 8 68 5 42 118 1000
FdR9 27 25 7 58 34 283 27 25 4 33 1 08 12 100 8 67 120 1000
u] 4} 27 231 7 60 18 154 60 513 0 0 2 17 2 71 09 117 1000
Aele Al 12 167 7 97 30 417 3 42 4 56 7 97 2 28 7 97 72 1000
EEERSE 14 179 1 13 32 410 8 103 1 13 8 103 12 154 2 26 78 1000
Exl 500 174 160 56 521 181 87 298 261 91 189 66 219 76 165 57 2872 1000
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71 Al 21 140 72 480 51 34.0 4 2.7 2 1.3 150 100.0

71 Al A 3 11 8.0 57 416 59 431 8 5.8 2 15 137 100.0
HILE R Y 27 18 143 57 452 47 373 3 24 1 0.8 126 100.0
Zd s d 30 252 38 319 47 395 4 34 0 0 119 100.0
A5 2} 3} 19 143 65 489 38 286 7 5.3 4 3.0 133 100.0
71 A% 33 208 70 440 55 346 1 0.6 0 0 159 100.0
A7 13} 16 176 43 473 26 286 6 6.6 0 0 91 100.0
oA E o 23t 12 103 = 57 491 42 362 5 4.3 0 0 116 100.0
ERER e 17 135 49 389 51 40.5 8 6.3 1 0.8 126 100.0
AT AR 14 139 43 426 35 347 4 4.0 5 5.0 101 100.0
AFE A" 14 143 43 439 37 378 3 3.1 1 1.0 93 100.0
Exgd 3 13 165 30 380 30 380 4 51 2 2.5 79 100.0
FeA g B 15 132 41 360 52 456 3 26 3 2.6 114 100.0
K 18 186 50 515 27 278 2 2.1 0 0 97 100.0

A A5 20 183 45 413 37 339 5 4.6 2 1.8 109 100.0
stz kg 3 32 213 63 420 49 327 4 2.7 2 1.3 150 100.0
FE&EA B} 18 137 56 427 53 405 4 3.1 0 0 131 100.0
&3 121 599 60 297 20 9.9 1 0.5 0 0 202 100.0

FE78dH 47 364 61 473 19 14.7 2 16 0 0 129 100.0
w474 31 263 61 51.7 25 212 1 0.8 0 0 118 100.0

36 300 53 442 27 225 3 2.5 1 0.8 120 100.0

}Ol’
e
o
of
B

1] A 2} 31 265 67 573 16 137 3 26 0 0 117 100.0
ArE T ARl 13 181 31 431 21 29.2 5 6.9 2 2.8 72 100.0
RGP 14 179 42 538 21 26.9 1 1.3 0 0 78 100.0

GA 614 214 1254 437 8% 308 91 3.2 28 1.0 2872  100.0
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<H2-46> Yot Stut0f Het 2HEE SftE 22

71 Al 27 180 66 440 52 347 5 3.3 0 0 150 100.0

71 Al A 3 16 11.7 58 423 58 423 4 29 1 0.7 137 100.0
HILE R Y 27 27 214 48 381 48 381 3 24 0 0 126 100.0
Zd s d 24 202 36 303 51 42.9 4 34 4 34 119 100.0
A5 2} 3} 28 211 55 414 43 323 3 2.3 4 3.0 133 100.0
71 A% 46 289 72 43 37 233 2 1.3 2 1.3 159 100.0
A7 13} 20 220 42 462 29 319 0 0 0 0 91 100.0
oA E o 23t 20 172 5 474 36 310 4 34 1 0.9 116 100.0
ERER e 15 119 52 413 56 444 2 16 1 0.8 126 100.0
AT AR 29 287 45 446 2 218 3 3.0 2 2.0 101 100.0
AFE A" 23 235 45 459 29 296 1 1.0 0 0 93 100.0
Exgd 3 11 139 25 316 34 430 7 8.9 2 2.5 79 100.0
FeA g B 14 123 33 289 59 518 6 53 2 1.8 114 100.0
K 25 258 49 505 22 227 1 1.0 0 0 97 100.0

A A5 25 229 45 413 33 303 5 4.6 1 0.9 109 100.0
stz kg 3 45 300 63 420 40 267 1 0.7 1 0.7 150 100.0
=& A 53 20 153 48 366 58 443 4 3.1 1 0.8 131 100.0
&3 126 624 55 272 19 9.4 1 0.5 1 05 = 202  100.0
FE78dH 45 349 58 450 24 18.6 2 16 0 0 129 100.0
w474 37 314 5 475 24 203 1 0.8 0 0 118 100.0
a7 38 317 48 400 29 242 5 4.2 0 0 120 100.0
1] A 2} 26 222 64 547 25 214 2 1.7 0 0 117 100.0
ArE T ARl 17 236 35 486 17 236 2 2.8 1 1.4 72 100.0
RGP 25 321 38 487 15 19.2 0 0 0 0 78 100.0
GA 729 254 1191 415 860 299 68 24 24 08 2,872 100.0
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50.0 472

350 315

<H?2-47> 8ZSt)tE HE0tHAM JHE SQotH ddH s A

(S, %)
D T e

(1) A4 A% 1,355 472

(2 A4 F&4 v 916 319

3) Fwe A 87 30

(4) Ar3l4 <17] 29 1.0

(5) FA7+s4 154 5.4

6) WA 100 35

GRCE! 131 46

®) 71e 100 35

A 2872 100.0
<H2-47>0M 2= ditet 20| 8BS E MEGtHA JtE S QoA 248t 220 CHoll & HH
S8 FHY MU0 47.2%F et JIN0| SR D S22 B4 st2& S01It 31.9%, &A

Hs4H0l 5.4%, 8F0| 4.6%, HHAO| 3.5% 52 &=2=2 LIESCH
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714 3% 104 693 19 127 4 275 33| 3 20 6 40 6 40 3 20 150  100.0

71 A 3 66 482 31 26 5 36 3 22 5 36 11 80 12 88 4 29 137 1000
Y7 ERY A5} 69 548 33 262 3 240 0 9 71 4 323 24 5 40 126 1000
LRS! 36 303 15 126 1 08 2 1721 176 8 67 29 244 7 59 119 1000
A3} 3} 56 421 46 346 6 45 2 15 5 38 4 307 53 7 53 133 1000
3377 3} 108 679 3% 220 3 9 2 13 5 31 2 13 1 06 3 19 159 100.0
AN A3} 64 703 14 154 3 33| 2 22 4 44 1 1o 0o 3 33 91 1000
BREREE 74 638 18 155 4 34 0 0 8 69 3 26 5 43 4 34 116 1000
AREA T} 39 310 36 286 5 40 1 08 20 159 7 56 9 719 71 126 1000
AFH AR} 40 396 50 495 0 0 0 0 1 10 3 30 4 40 3 30 101 1000
AFEA 283} 29 2096 5 571 3 31 2 20 1 10 2 20 1 10 4 41 98 1000
ESR4 22 2718 17 215 7 89 0 0 11 139 3 38 14 177 5 63 79 1000
PR E R 28 246 21 237 4 35 2 18 18 158 11 96 16 140 8 70 114 1000
A% 3 25 258 42 433 8 82 1 10 5 52 4 41 2 2110 103 97 1000
A& 16 147 74 679 6 55 1 09 0 0 0 0 6 55 6 55 109 100.0
333743} 98 653 39 260 4 270 0 1 07 4 270 0 4 27150 1000
&8 69 527 18 137 4 31 1 08 12 92 8 61 13 99 6 46 131 1000
333t 135 668 61 302 3 5 0 0 1 05 0 0 1 05 1 05 202 1000
37493} 8 636 3B 2711 4 31 1 08 2 16 3 230 0 2 16 129 1000
37 o 3} 48 407 59 500 0 0 0 0 8 68 2 170 0 1 08 118 1000
sd3 9% 4 367 57 415 3 25 1 08 5 429 750 0 1 08 120 1000
H] A 3} 8 735 22 188 3 26 2 173 26 1 09 0 0 0 0 117 1000
Akl o) 2ol 3} 7 97 | 54 750 2 28 1 14 4 56 1 14 1 14 2 28 721000
ERER e 10 128 58 744 2 260 0 2 26 3 38 1 13 2 26 78 1000
A 1355 472 916 319 8 30 29 10 154 54 100 35 131 46 100 35 2872 1000
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<H2-50> 2l UEtel AX L wsol CH

ro
2
I
H
o
[
[
A
e

71 A % 15 10.0 56 37.3 53 353 22 14.7 4 2.7 150 100.0

71 AA A3} 22 16.1 43 314 53 38.7 17 12.4 2 15 137 100.0

I EZ Y A5 23 18.3 40 31.7 46 36.5 12 9.5 5 4.0 126 100.0

L 29 244 37 311 37 311 11 9.2 5 4.2 119 100.0
A2k 21 15.8 34 256 47 35.3 20 15.0 11 8.3 133 100.0
371 A% 22 13.8 47 29.6 59 371 24 15.1 7 4.4 159 100.0
A7 3} 18 19.8 38 41.8 25 275 6 6.6 4 4.4 91 100.0
YA A} 12 10.3 41 353 45 38.8 16 13.8 2 1.7 116 100.0
R AR 14 11.1 42 33.3 47 37.3 20 159 3 2.4 126 100.0

AFEA RS 17 16.8 29 287 44 436 8 7.9 3 3.0 101 100.0

AREA 25 13 13.3 31 316 29 29.6 18 18.4 7 7.1 93 100.0

EES3 20 25.3 27 34.2 26 329 3 3.8 3 3.8 79 100.0

A Y4} 16 14.0 37 325 42 36.8 13 114 6 5.3 114 100.0

KEES 15 155 39 40.2 35 36.1 7 7.2 1 1.0 97 100.0
Ay %3 18 16.5 33 30.3 44 40.4 12 11.0 2 1.8 109  100.0
S5 42 28.0 51 34.0 43 287 12 8.0 2 1.3 150 100.0
w&A R} 27 20.6 45 344 41 313 11 8.4 7 5.3 131 100.0
g3t 36 17.8 71 351 7 38.1 14 6.9 4 2.0 202 100.0
PR 35 271 43 33.3 37 28.7 11 8.5 3 2.3 129 100.0
#3733 30 254 33 28.0 37 31.4 15 12.7 3 25 118 100.0
397493 19 15.8 40 33.3 37 30.8 11 9.2 13 10.8 120 100.0

H] A 3} 11 94 26 222 52 444 16 13.7 12 10.3 117 100.0

ATkl 3 7 9.7 30 41.7 26 36.1 5 6.9 4 5.6 72 100.0
s v Aol 3 13 16.7 31 39.7 30 385 4 5.1 0 0 78 100.0
A 49 172 944 329 1012 352 308 10.7 113 39 | 2872 1000
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<H2-51> 22l tistol JtE diets At
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(D F& AHFAAY BA7 623
2 A9 WA kA 788
Q) Az A4 633
@) 53 w3l 126
(5) thEFF wHItA 129
6) thgst A eks 434
(D Ne 139

Al 2,872

(HA - H, %)

AH
OLEO0l 27.4%2 JtE =0l LIEtE D OS2 2 stitg A& 0l 22.0%, £€2 WA =

A

—

—

<H2-51>0IAM 2= Biet 201 221 S0l JtE Bict= AP0l CHoll 2

Z0l 21.7%, CtLet StME S0 15.1% 82 =22 HY A DtE0ILE X
SEO0l et JH01 = AL
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<H2-52> 22| Usioll Ot diets Al

0%
o
&
ng
i
He

71 A 7 21 140 51 340 33 220 7 47 10 6.7 23 153 5 33 150 100.0

714 A 3 31 226 43 314 28 204 6 4.4 7 5.1 16 117 6 44 137 100.0

W EZ Y 23} 24 190 41 325 27 214 7 5.6 5 40 15 119 7 56 126 100.0

BN 23 193 37 311 26 218 2 1.7 6 50 17 143 8 6.7 119 100.0

A Ak 3 25 188 45 338 22 165 7 53 5 38 | 22 165 7 53 133 100.0

2714 3% 29 182 64 403 31 195 6 3.8 6 3.8 19 11.9 4 25 159 100.0

A7 4 W3} 17 187 29 319 20 220 6 6.6 2 2.2 13 143 4 44 91 100.0

oA E A3} 25 216 27 233 32 2716 9 78 0 0 20 172 3 26 | 116 100.0

AR} 30 238 29 230 35 218 4 3.2 8 63 12 9.5 8 63 126 100.0

AFEg R} 22 218 21 208 29 287 7 6.9 4 40 14 139 4 40 101 100.0

e A 2 17 173 22 224 23 235 5 5.1 11 112 16 163 4 4.1 98 100.0

EZ#7 3} 10 127 21 266 20 263 4 5.1 1 1.3 17 215 6 76 79 100.0

AR} 25 219 29 254 21 184 2 18 5 44 17 149 15 132 114 100.0

A%t 32 330 18 186 19 196 5 52 5 52 15 155 3 3.1 97 100.0

A 30 275 21 193 34 312 6 55 8 7.3 7 6.4 3 2.8 | 109 100.0

s34 3t 41 273 45 300 32 213 7 4.7 3 2.0 14 9.3 8 53 150 100.0

AR} 29 221 41 313 22 168 7 53 4 3.1 22 168 6 46 131 100.0

et 57 282 50 248 38 188 8 4.0 4 20 33 163 12 59 202 100.0

24934 29 225 25 194 31 240 0 0 4 31 31 240 9 70 129 100.0

A3} 17 144 36 305 30 254 2 1.7 7 5.9 23 19.5 3 25 118 100.0

973934 25 208 38 317 22 183 6 5.0 5 42 19 158 5 42 120 100.0

H] A 3} 34 291 18 154 27 231 3 26 5 43 25 214 5 43 117 100.0

Akl Apel 3 12167 17 236 11 153 5 69 11 153 12 167 4 5.6 72 100.0

A9l 3t 18 231 20 256 20 2566 5 6.4 3 38 | 12 154 0 0 78 100.0

A 623 217 788 274 633 220 126 44 129 45 434 1561 139 48 2872  100.0
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700
B0.2
B0.0
50.0
40.0
30.0
156
200
B2
10.0 53
0.0 - | | I
EE (=Y (3 TES g FBLED 5 EEE BEZ (MR
A4 9 HES  HUFEH AEIE IFREEq Z|Di0
= = o Ad =29
= T o0 O T o

<H2-53> thet &ste| 0l=

(1) AEAA ] F5 564 19.6
) 39 A5 235 8.2
(3) W=t HYEN 1,728 60.2
4) 243 24 A 153 5.3
(6) Z\e AAA FA 64 22
(6) F& 7]thol F-& 73 2.5
(1) 718 55 1.9

A 2,872 100.0

<H2-53>0IAM 2= Htet 201 Uis &dstel Ol=0l CHol 2HEH 22t FHP=HIot
60.2%% HE=S XKoL G822 dEXN A2 &501 19.6%, &9 =0l 8.2%, Bt
(@)

A8 L0l 5.3%, 22 JIUH 301 2.5% 2 =
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13.9

15.8

26.8

284

15.3

22.1

9.9

10.9

12.7

12.5

94

30.6

33.3

196

17

12

11

14

13

11

11

235

7.1

14.3

9.0

44

8.8

78

12.7

89

6.1

13.9

12.3

13.4

10.1

7.3

46

15

3.1

76

12.5

6.8

8.3

3.8

82

76

56

67

107

57

80

69

49

42

46

62

40

43

107

84

174

106

79

73

93

23

32

1,728

69.0

54.8

48.5

429

58.2

394

71.3

64.1

41.0

60.2

12

14

14

11

153

4.0

2.5

53

5.7

44

34

0.8

10.9

5.1

51

53

12.4

12.8

2.0

2.3

15

3.1

51

75

3.4

19.4

14.1

53

64

16

6.7

3.0

1.3

3.3

0.9

24

1.0

31

25

18

4.1

55

05

6.8

1.7

6.9

13

2.2

73

4.0

5.0

2.3

2.5

3.4

4.8

3.0

3.1

1.3

7.0

1.0

2.8

2.7

5.3

2.5

0.9

3.8

2.5

55

0.8

5.0

15

1.3

1.1

0.9

1.6

3.0

6.1

5.1

35

1.0

0.9

1.3
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91
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79
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131

202
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117
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2,872

100.0

100.0

100.0

100.0

100.0

100.0

100.0

100.0

100.0

100.0

100.0

100.0

100.0

100.0

100.0
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100.0

100.0

100.0
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250
200
15.0
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314

14.4
a5

6.9

242

78

<H2-55> CHet

A It

NG
=]

H>
ro

(i
=

PR o E ) %)

1) deei 5t g 903 31.4

(2) o1 Al 274 95

(3) FH 2> A 414 14.4

@) St 2E 198 6.9

(6) FHS 1Y 55 81 2.8

6) ot 227 7.9

M FA = AAAD =) 694 24.2

® 71% 81 2.8

FA 2872 100.0
<H2-55>0A 2= Hhek 20| et ME0A JHE 21D 42 200l ol 4HEH 833
£ 2 520l 31.4%=2 JtE =0 UEtgtd OS2 2 HEY & ANAANE ZHIIE 24.2%, ZE2
CHOIZEAHI DL 14.4%, Ol WAHIJE 9.5% S =22 8S3F & StH0ILE HY & NHHAME &

T

IS HED 2=
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<H2-56> et E0A Ot o210 o2 A

o
&
g
AL
i

(G2l : H, %)

7173 43 287 15 100 17 113 11 73 3 20 3 20 57 380 1 07 | 150 100.0

7\ ALA %} 46 336 15 109 24 175 9 66 107 4 29 33 241 5 36 | 137 1000
HAERY 23 39 310 15 119 28 222 5 40 2 16 5 40 29 230 3 24 | 126 100.0
ERERE 27 227 11 92 27 227 12 101 2 17 5 42 23 193 12 101 119 1000
A 2 40 301 27 203 20 150 7 53 2 15 5 38 30 26 2 15 | 133 1000
337173 43 270 19 119 18 113 16 101 2 13 7 44 51 321 3 19 159 100.0
AR 20 220 16 176 18 198 6 66 3 33 0 0 21 231 7 77 91 1000
ERLKRE 40 345 15 129 16 138 6 52 2 17 7 60 2 224 4 34 | 116 1000
EEERES 54 429 6 48 20 159 8 63 4 32 6 48 24 190 4 32 | 126 100.0
AR AR 46 455 6 59 1 109 13 129 3 30 6 59 15 149 1 10 101 100.0
R R 39 398 14 143 12 122 10 102 3 31 771 9 9.2 4 41 98 100.0
=285 18 228 14 177 16 203 8 101 3 38 8 101 12 152 0 0 79 1000
R ke 27 237 10 88 21 184 13 114 4 35 8 70 22 193 9 79 | 114 1000
A%3} 39 402 9 93 18 186 4 41 4 41 9 93 10 103 4 4.1 97 100.0
A% 40 367 7 64 16 147 5 46 i 1001 4 37 19 174 7 64 | 109  100.0
s}5 873 51 340 8 53 173 747 5 33 12 80 54 360 2 13 150  100.0
FEA R 37 282 21 160 17 130 13 99 3 23 5 38 32 244 3 23 | 131 100.0
33837 69 342 4 20 17 84 7 35 7 35 23 114 73 361 2 10 202 100.0
&379% 34 264 2 16 13 101 7 54 0 0 3B 211 36 219 2 16 129 100.0
#3739% 22 186 4 34 20 169 14 19 3 25 21 178 33 280 1 08 = 118 1000
397493 4 367 7 58 10 83 4 33 2 L7 21 175 31 258 1 08 | 120 100.0
LR 19 162 14 120 18 154 7 60 6 51 19 162 32 214 2 7 17 1000
Abeiiael o 31 431 6 83 12 167 3 42 3 42 5 69 11 153 1 14 72 1000
RN 35 449 9 115 14 179 3 38 3 38 2 26 11 141 1 13 | 78 1000
A 903 314 274 95 414 144 198 69 8 28 227 79 694 242 8l 28 | 2872 100.0
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(3) W=<H JtE JltHdte A

400 37.8

35.0
30,0

25.0

20.0

15.0

10.0

50 24

0.0 .

LEYUE (BE (JHEED (Y UE (5 MRS (6 /|E
HTGUE O FYNE  ZY ZABY
rE=2 £
<H?2-57> W= Jt&E Jltiste A
(S, %)
D T e
(1) 2ol A& AFIE ug 560 195
(2) 917+ o8} 403 14.0
3 Az 2 AYA= 1,087 3738
@) Ao e 7o 342 11.9
G) AT L T e Eo 41 143
(6) 71€ 69 2.4
7 2872 100.0

<H2-57>0IM 2= Btet 201 W==gMN Jt& JIUots 2301 CHol & IH
COF37.8%2 Jt&E = L
=01 14.3%, 212+H UatD

EJIHets SE0I| et
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717 3 25 16.7 16 10.7 69 46.0 19 12.7 21 14.0 0 0 150 100.0

714 A 3} 29 212 26 19.0 45 32.8 18 13.1 14 10.2 5 3.6 137 100.0

WIERY £ 3} 31 246 20 159 45 35.7 15 11.9 12 9.5 3 24 126 100.0

ESEE 26 21.8 17 14.3 36 30.3 11 9.2 24 20.2 5 42 119 100.0
A& A3k 27 20.3 18 135 46 34.6 18 13.5 17 12.8 7 53 133 100.0
37145 30 189 23 145 71 447 22 13.8 9 5.7 4 2.5 159 100.0
71483 15 16.5 16 176 36 39.6 13 14.3 10 11.0 1 11 91 100.0
oA = Az} 28 24.1 11 9.5 42 36.2 18 15.5 14 121 3 2.6 116 100.0
AR A I} 27 214 11 8.7 37 29.4 30 23.8 20 159 1 0.8 126 100.0
AFE ARG 31 30.7 13 129 29 28.7 21 20.8 7 6.9 0 0 101 100.0

AireA =5l 33 337 15 15.3 23 235 8 8.2 15 15.3 4 4.1 98 100.0

B 16 20.3 9 114 31 39.2 6 76 14 177 3 3.8 79 100.0

FeAY QR 22 19.3 11 9.6 40 35.1 14 12.3 20 175 7 6.1 114 100.0

A% 20 206 18 186 22 227 | 15 155 18 186 4 41 97 1000

A Ay 25 229 19 174 29 266 10 9.2 22 202 4 3.7 109 1000
33373} 23 153 21 140 65 433 15 100 | 23 153 3 2.0 150 1000
FEA R} 27 206 17 130 54 412 15 115 16 122 2 15 131 1000
g3eaa 34 168 2 109 103 510 9 45 32 158 2 1.0 202 100.0
#3499 14 109 16 124 78 605 7 54 13 101 1 08 129 1000
#3493} 12 102 17 144 49 415 15 127 23 195 2 17 118 1000
9795 6 133 21 175 52 433 11 9.2 18 150 2 17 120 1000
H] A 3} 6 5.1 17 145 50 42.7 16 13.7 26 222 2 17 117 1000
RaERE 21 29.2 16 222 14 19.4 6 83 11 15.3 4 5.6 72 100.0
RO 22 282 13 167 21 269 10 128 12 154 0 0 78 1000
BE 560 195 403 140 | 1,087 378 342 119 @ 411 143 69 24 | 2872 1000
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(4) HEMENA JIE ER0oICtn M2Ee= 32
40.0 365
35.0 31.1

0
40

PR o E ) %)

r

(1) d&state] A7 893 311

(2) &4 Fotd] &= 183 6.4

(3) St A A 72 25

4) A4, A4~ 1,047 36.5

6) 44, 8 & Tgol+4 203 71

6) ot 271 9.4

(7 A, 7 152 5.3

® 71% 51 18

FA 2,872 100.0
<H2-59>0A 2= Hiet 200l e E0AM JtE 2ottt d2tx= H20l ol &I
SH FY, HAANE0l 36.5%= Y =% 0 83t MY0| 31.1%, F301 9.4%, 85,
55 S SE0I=UE0 7.1% S8 =22 AIZstuel MY0ILE FHY, UHAAS0 et 20t

HE 25tt=s 8801 HREE22 UEHRC.
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v
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o
\V4
o
o
0z
o
=
x
S
0
I
0
Qﬂ
a
kJ
0z
N
0
rr
0
H
Jo
(3]
g
HI
H

i

7173 39 260 8 53 5 33 66 440 11 73 12 80 8 53 1 07 | 150 1000

71 A4 A7 34 248 11 80 6 44 49 358 9 66 1 80 15 109 2 15 | 137 1000
H ERY 23 31 246 18 143 0 0 49 389 14 111 7 56 4 32 3 24 | 126 1000
Z38) % 4 370 10 84 4 34 31 261 9 76 12101 4 34 5 42 | 119 1000
A A 42 316 15 113 2 15 49 368 4 30 12 90 4 30 5 38 | 133 1000
337143 53 333 12 75 2 13 67 421 9 57 9 57 3 19 4 25 | 159 1000
AR u 28 308 3 33 2 22 34 3314 11 121 9 99 3 33 1 L1 91 1000
EEERRE 31 267 6 52 6 52 37 319 13 112 12 103 8 69 3 26 | 116 1000
AREA I} 33 262 7 56 4 32 43 341 9 71 14 111 15 119 1 08 | 126 1000
AFE AR 34 337 4 40 2 20 33 327 6 59 1 109 8 79 3 30 101 1000
AFEA 287 33 337 12 122 4 41 21 214 4 41 16 163 5 51 3 3.1 98 100.0
ES3A 3} 17 215 7 89 2 25 32 405 4 51 7 89 8 101 2 2.5 79 1000
F3A 24 w3t 31 272 6 53 5 44 32 281 5 44 14 123 18 158 3 26 | 114 1000
A% 23 237 9 93 4 41 41 423 8 82 772 3 31 2 2.1 97 1000
Ay 0 367 7 64 3 28 22 202 13 119 17 156 6 55 1 09 109 1000
e 4 293 9 60 4 27 68 453 13 87 10 67 2 13 0 0 150 100.0
4R} 40 305 10 76 2 15 52 397 8 6l 12 92 4 31 3 23 | 131 1000
&3 78 386 6 30 1 05 8 426 8 40 17 84 4 20 2 10 0 202 1000
33497 42 326 3 23 0 0 54 419 11 85 13 101 5 39 1 08 129 1000
#3739 39 331 6 51 2 17 46 390 10 85 9 76 5 42 1 08 118 1000
397393 36 300 4 33 0 0 52 433 9 75 5 42 12 100 2 1.7 | 120 1000
u] 43 40 342 3 26 5 43 46 393 6 51 15 128 1 09 1 09 117 1000
AeiriAel 30 417 3 42 2 28 17 236 4 56 11 153 3 42 2 28 | 72 1000
RS 31 397 4 51 5 64 20 26 5 64 9 15 4 51 0 0 78 1000
7 893 311 18 64 72 25 1047 365 203 71 271 94 152 53 51 18 | 2872 1000
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<H2-62> U8 28 = fladEHe JtE 0= SM SUE 22

(G2l : H, %)

7173} o413 W 187 3 2.0 13 87 5 33 14 9.3 9 6.0 2 13 427 1 0.7

71 A AT 2307 2 8B4 2 15 19 139 7 51 9 66 0 73 2 15 429 073

w7 ERY 25} 39 310 36 286 1 08 19 151 6 48 10 79 4 32 1 08 5 40 5 40

ELER 49 42 3B w7 2 119 16 5 42 7 59 8 67 1 08 2 17 3 25
A A} 34 %6 % 21 8 60 21 158 4 30 12 9 5 38 2 15 5 38 6 45
3714 2 46H3 W 16 1 06 17 107 5 31 18 13 11 69 3 19 3019 1 06
A7) 4w 0 30 % W6 4 44 14 154 5 55 5 55 4 44 3 33 0 0 0 0

HA At 33 284 28 241 1 0.9 18 155 9 78 9 78 9 78 0 0 5 43 4 34

AREAH} 3L 2460 M4 349 1 08 12 95 6 48 16 127 9 71 2 16 108 4 3.2
e ust 2 28 2 A8 3 30 16 158 13 129 10 99 1 10.9 3 30 0 0 0 0

e A 283t 30 306 14 143 1 1.0 19 194 7 71 5 5.1 10102 2 20 711 3 3.1

ERes 2 8 2 08 2 25 15 19.0 2 25 6 76 5 6.3 2 25 2 25 1 13

A5 28 289 2% 28 4 41 10 103 6 6.2 10 103 7 72 2 21 2 2 3 3.1
A 29 266 2 202 3 28 18 165 5 46 10 92 16 147 1 09 109 4 37
et 64 427 2 187 5 33 26 173 7 47 2 13 10 6.7 3 20 4 1 1 0.7
F4A R} 80366 40 305 3 23 13 9.9 3 23 9 69 7 53 2 15 2 15 4 3.1
Pt % 470 3] 183 6 3.0 4 20 22 109 2 124 8 40 0 0 105 4 20
579 56 434 29 225 1 08 12 9.3 8 6.2 10 78 1 85 0 0 0 0 2 16
w37 32 211 37 314 1 08 12 102 5 42 16 136 14 119 1 08 0 0 0 0
9793 3215 2% 28 2 17 8 6.7 18 150 18 150 9 75 0 0 217 5 42

A3t 63 538 26 222 2 17 0 0 3 26 13 111 9 17 1 09 0 0 0 0

R ERE 17 236 2 306 5 6.9 6 83 7 97 9 125 5 69 0 0 1 14 0 0

Al s 2 282 2% 33 2 26 6 17 5 64 8 103 7 9.0 0 0 0 0 2 26

R 93 346 6% 242 64 22 328 114 167 58 25 92 207 72 36 13 52 18 64 22
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(6) &HHOIA Hicte 2&

45.0
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35.0
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200
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S () TEE @FCAET @UHE @B U= E71E
=D O-= 2] Ci=t 2EE YEste  fHEE 5=
BHLERIEM 2] HOFAEA D] 2HEhs ME CIEN F= il
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<H2-63> HUi0IA Hiets 28

(1) stgdat Aze] QhjatzAl el A
@ &% vgol gt gridzaiel A
@) A o7t BEL B A

(4) U= AFsa ojFo] F
6) A A dAS e
(6) 71€

Al

1,120 39.0
617 215
412 14.3
342 11.9
271 9.4
110 3.8

2,872 100.0

<H2-63>0IAM
NP RSIRGY )
21.5%, F0I2 Kot ==
S92 =22 LIEtRC.

2= diet 201 6RO Biet=
39.0%= Jt& =0 UER2H
g ot=s HUioF 14.3%, UHE 186t1
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<H2-64> &HHOIA Hict=

[}
—

2
=

T Y, %)

71 A 5} 8 533 14 93 22 147 16 107 14 93 4 27 150 1000

71 A4 A 2 58 423 24 175 20 146 16 1.7 10 73 9 66 137 1000
wlE Ry 23 46 365 22 175 25 198 21 167 6 48 6 48 126 1000
Z3) %7} 56 471 16 134 18 151 13 109 10 84 6 50 119 1000
A5 22} 52391 19 143 20 150 15 113 19 143 8 60 133 1000
&7 A 8 516 22 138 21 132 22 138 6 38 6 38 159 1000
714 13} 46 505 9 99 14 154 15 165 6 66 1 11 9l 100.0
ER=ERE 38 328 17 147 27 233 16 138 15 129 3 26 116 1000
4 5% 1} 42 333 18 143 20 159 14 111 25 198 7 56 126 1000
AFE AR} 42 416 23 28 15 149 7 69 7 69 7 69 101 1000
ZAFE A 28l ) 30 306 14 143 21 214 12 122 18 184 3 31 98 100.0
EXg4 ) 27 342 18 228 22 218 5 63 3 38 4 51 79 1000
G A 2wt 37 325 16 140 25 219 15 132 14 123 7 61 114 1000
A% 27 2718 26 268 20 206 13 134 10 103 1 10 97 1000
Ay St 32 294 23 211 13 119 17 156 20 183 4 37 109 1000
3}3 874 7} 77 513 22 147 16 107 13 87 12 80 10 67 150 1000
FEA R 56 427 24 183 27 206 10 76 8 61 6 46 131 1000
R A 66 327 90 446 9 45 25 124 11 54 1 05 202 1000
37 G 7 51 395 41 318 9 70 0 20 155 7 54 1 08 129 1000
37 Q7 38 322 39 331 16 136 11 93 10 85 4 34 118 1000
kA b 34 283 4 367 5 42 20 167 11 92 6 50 120 1000
] A 3} 52 444 33 282 11 94 | 11 9.4 6 5.1 4 34 117 1000
e Akl 3 25 347 19 264 8 1.1 6 83 13 181 1 14 72 100.0
w4 H) 22l 2} 26 333 24 308 8 103 9 15 10 128 1 13 78 1000
A 1,120 390 617 215 412 143 342 119 271 94 110 38 2872 100.0
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250
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I
(1) dFaa 780 272
(2) A%2E 561 195
(3) 57170 299 104
(4) AF31EA 131 46
(5) &% 268 93
(6) Fnes 28 1.0
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(® st 157 55
© 71e} 167 58
@ 2,872 100.0
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(G2l : H, %)

71 A% 27 180 36 240 19 127 4 2.7 11 7.3 3 2.0 36 240 4 27 10 67 150 100.0

71 A AT 45 328 27 197 15 109 2 1.5 6 44 1 07 27 197 4 29 10 73 137 100.0

HEZY 23} 3B 2718 34 210 12 95 2 1.6 8 6.3 2 16 23 18.3 2 16 8 6.3 126 100.0

ERE DR 37 311 27 27 8 67 3 25 10 84 2 17 17 143 7 59 8 67 119 1000

A A} 31 233 31 233 11 83 10 75 12 90 1 08 2 195 1 08 10 75 133 1000
37173 40 252 32 201 14 88 10 63 18 113 1 06 28 176 7 44 9 57 159 1000
714 B3} 18 198 27 297 10 110 4 44 5 55 1 1.1 19 209 4 44 3 33 91 1000

HAE A} 27 233 21 181 21 181 4 3.4 9 78 0 0 24 207 3 26 7 6.0 116 100.0

AHEA} 30 238 28 222 15 119 2 1.6 8 6.3 2 16 22 175 7 56 12 95 126 100.0

AR} 33 327 15 149 10 99 3 30 11 109 3 30 14 139 5 5.0 7 6.9 101 100.0

A A 283 43 439 10 102 9 9.2 0 0 5 51 2 20 17 173 6 6.1 6 61 98 1000

EEZgAs} 17 215 20 263 7 8.9 5 6.3 6 76 0 0 17 215 6 76 1 1379 1000

FEAYA L 19 167 31 212 14 123 5 44 14 123 1 09 18 158 3 26 9 79 114 1000

A% 28 289 17 175 12 124 3 3.1 10 103 0O 0 20 206 2 21 5 52 97 1000
A%t 34 312 22 202 12 11.0 5 46 18 165 1 0.9 11 10.1 3 2.8 3 2.8 109 100.0
@43 53 353 31 207 16 107 11 7.3 8 5.3 5 3.3 13 8.7 5 3.3 8 53 150 100.0
ERR s 38 290 36 215 9 6.9 4 3.1 8 6.1 1 08 20 153 4 31 11 84 131 1000
PESIEl 69 342 20 99 17 84 21 104 16 79 0 0 22 109 26 129 11 54 202 100.0
B39 43 333 20 155 5 39 8 6.2 9 7.0 0 0 19 147 20 155 5 3.9 129 100.0
+8749% 25 212 24 203 16 136 8 68 13 110 0 0 15 127 14 119 3 25 118 100.0
397493 42350 19 158 11 9.2 9 75 6 5.0 1 0.8 15 125 11 9.2 6 5.0 120 100.0

ERES 14 120 14 1200 19 162 2 1.7 17 145 1 09 32 274 12 103 6 51 117 100.0

Aol s 13 181 8 111 8 111 2 28 22 306 0 0 13 181 0 0 6 83 72 1000

ERERE 19 244 11 14.1 9 115 4 5.1 18 231 0 0 13 16.7 1 13 3 38 78 1000

gl 780 272 561 195 299 104 131 46 268 93 28 1.0 481 167 157 55 167 58 2872 100.0
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(8) M2ZEE Al JtE 2 2A
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1) o] svek 448 EbA 819 285
(2) Aol o] &o] R A 318 111
(3) A=, APARI} F-FA 724 252
(4) 9=o] TFo] shopA 638 222
(5) st WA o] srolx 65 2.3
(6) 71Et 308 10.7
A 2,872 100.0

<H2-67>0AM 2= bttt 201 A2ZF Al Ot 2 SH0l tHoll &IHEY LI S0 &4
SchAIE 28.5%2 It =0 LIER D &2, AEIHEI SFHAMIE 25.2%, =0 550I
FORA JF 22.2%, A& Z0I HAIE11.1% S8 =22 S0l Hds 220U
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<H2-68> dZZEH Al JtE 2

o
o

ZM SstitE

AT

H

T Y, %)

717 5} 49 327 14 93 52 347 22 147 2 13 1 73 150 1000

71 A1 A A) 2} 50 365 17 124 34 248 19 139 6 44 11 80 137 1000
e Ry 23 4 333 10 79 41 325 21 167 5 40 7 56 126 1000
ESSRRvE 58 487 14 118 24 202 10 84 0 0 13 109 119 1000
A5 22} 39 293 9 68 45 338 20 150 5 38 15 113 133 1000
7)1 A % 38 239 14 88 42 264 52 327 2 13 1 69 159  100.0
A7) A 1t 33 363 12 132 23 253 12 132 0 0 1121 9l 100.0
ERR=ESRAR 42 362 17 147 33 284 15 129 0 0 9 78 116 100.0
ERE 51 405 12 95 32 254 11 87 ' 3 24 17 135 126 1000
A e AR} 21 208 16 158 26 257 16 158 7 69 15 149 101 1000
AT A 28 ) 28 286 12 122 27 276 12 122 5 51 14 143 98 100.0
E537 ) 33 418 10 127 19 241 11 139 1 13 5 63 79 1000
&3 A 2 4 =2} 4 386 15 132 27 237 14 123 0 0 14 123 114 100.0
A% 29 299 14 144 28 289 12 124 3 31 11 113 97 1000
A S 28 257 14 128 29 266 22 22 1 09 15 138 109 1000
ey 46 307 18 120 39 260 25 167 6 40 16 107 150 1000
T&A R 50 382 14 107 44 336 13 99 2 15 8 61 131 1000
&3} 26 129 27 134 25 124 90 446 1 05 33 163 202 1000
&7 G 17 132 9 70 15 116 69 535 0 0 19 147 129 1000
S 21 178 11 93 20 169 55 466 2 17 9 76 118 1000
ki bR 15 125 10 83 27 225 53 442 6 50 9 75 120 1000
] A 7} 29 248 11 94 22 188 46 393 1 09 8 68 117 1000
Ak el Akl 3t 19 264 11 153 18 250 7 97 5 69 12 167 72 1000
o4 ) 22l 2} 141 7 90 32 410 11 141 2 26 15 192 78 1000
A 819 285 318 111 724 252 638 222 65 23 308 107 2872 1000
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<H2-69> st £ = MZ A=

(HA - H, %)

1
(2)

(3) 3
@ %

5)

S e
o o 2
B
P

jincs

)
2

71et

2,069 72.0
542 18.9
112 3.9

43 1.5
106 3.7
2,872 100.0
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<H2-70> Uist &=¢

Hon
[Pl
Hy
X
Jon
i
&
g
HI
i

71 A2 115 767 | 22 14.7 6 4.0 2 1.3 5 3.3 150 100.0

71 A4 A 2 89 650 36 263 3 2.2 2 15 7 51 137 100.0
W7t E R Y 27 94 746 24 19.0 3 24 0 0 5 4.0 126 100.0
I 78 655 22 18.5 9 76 0 0 10 84 119 100.0
A& 23 9% 722 22 16.5 8 6.0 3 2.3 4 3.0 133 100.0
g7 A 134 843 16 10.1 6 3.8 1 0.6 2 1.3 159 100.0
A7) W3 67 736 16 17.6 2 2.2 1 11 5 55 91 100.0
ERA=ERA S 8 716 27 233 2 1.7 0 0 4 34 116 100.0
ERER e 59 468 50 397 8 6.3 1 0.8 8 6.3 126 100.0
TR R 62 614 31 30.7 1 1.0 4 4.0 3 3.0 101 100.0
HFE A = 9 5 571 34 347 3 3.1 2 2.0 3 3.1 98 100.0
Exd7 50 633 22 278 3 3.8 1 1.3 3 3.8 79 100.0
FaA YA w3t 64 561 39 342 2 1.8 1 0.9 8 7.0 114 100.0
A5 5 567 27T 278 7 7.2 2 21 6 6.2 97 100.0

A A5 % 697 13 11.9 5 4.6 7 6.4 8 7.3 109 100.0
stz 3k 3 114 760 | 26 17.3 3 2.0 1 0.7 6 4.0 150 100.0
&A= 100 763 22 16.8 2 15 1 0.8 6 46 131 100.0
T 199 985 1 0.5 2 1.0 0 0 0 0 202 100.0
FE 7 115 891 10 78 4 3.1 0 0 0 0 129 100.0
Hg7 e 9% 805 11 9.3 7 59 0 0 5 4.2 118 100.0
AR 86 717 29 242 5 4.2 0 0 0 0 120 100.0
1] A 2} 9% 821 11 9.4 3 26 2 1.7 5 4.3 117 100.0
AT ARl 43 597 17 236 8 11.1 3 4.2 1 14 7?2 100.0
SRS R SR 43 551 14 17.9 10 12.8 9 11.5 2 2.6 78 100.0
A 2069 720 542 189 112 39 43 15 106 37 2872 100.0

_72_



(10) 2 SH& Al Jt&E 21X edsts A

40.0 358
350 306
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250
200
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D T e
(1) BAH By 1,028 35.8
(2) AF3] 4 A9 133 46
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() A 350 12.2
(6) HAd7ts4 147 5.1
(D) A 913 23 038
(®) 71& 50 1.7
A 2872 100.0
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7] A 3
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vFtER Y A5}
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F371A%

A7 413k
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EEERERE]

EE87st
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Ae 4 st
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e

g2y

ool
ol
o
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A A

AT AT

bl

77 513
52 380
58 460
62 521
47 353
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24 214
14 125
19 17.0
13 8.5
9 11.0
12 74
11 13.3
19 19.4
26 19.0
24 14.6
11 11.8
17 14.7
25 12.1
29 22.5
15 14.0
13 11.2
17 153
7 11.1
10 14.3
383 139

50

43

32

22

672

22.3

241

17.0

235

232

252

204

19.7

256

28.0

29.9

25.0

34.2

27.0

31.4

244

113

113

90

87

112

112

112

153

82

163

83

93

137

164

93

116

207

129

107

116

111

63

70

2,754

100.0

100.0

100.0

100.0

100.0

100.0

100.0

100.0

100.0

100.0

100.0

100.0

100.0

100.0

100.0

100.0

100.0

100.0

100.0

100.0

100.0

100.0

100.0
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(13) AEH A9 JIE 2 K¢

450
400
35.0
300
250 202
200
15.0
100

38.5

14.6

<H3-113> AEd AL JtE 2 ¢

(HA - H, %)

(1) =2Eg 271 ok 403 14.6
2) gdaa 555 20.2
(3) Ad, W= 1,060 385
(4) A 240 87
6) BAH A 225 8.2
(6) 7+ Al 63 2.5
(7) BAEA 52 19
() ol d=A 38 1.4
9) 71e 113 4.1

Al 2,754 100.0

<HS-113>0M 2= Hi2t 201 AEdAS It 2 R0 Holl 4HEH HY, M2t
38.5%% JtE = UERCH OS2z std230l 20.2%, AEdH A 8lilte SEO0I

14.6%, LHRIZAHIIL 8.7%, BHMA SXIt 8.2% 2 =22 LEHRCEH
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<H3-114> AEMIAS JtE 2 Q0 T

ro
i
&
[
i
x!
Al
Hel

(G2l : H, %)

7175 29 26/ 26 211 51 415 4 33 7 57 2 16 1 08 0 0 3 24123 1000

7V A A 7 2204 21 186 46 207 4 35 7 62 4 35 3 27 0 0 5 44 113 1000

W7 ERY 23} 15 133 16 142 53 469 9 80 10 88 1 0.9 2 18 1 09 6 53 113 100.0

z38) % 8 200 18 200 2 300 9 100 8 8 2 22 1 11 4 44 3 33 90 1000
A A 6 69 13 149 5 55 3 34 6 69 3 34 1 1Ll 1 Ll 4 46 & 1000
F571A% 4 125 19 170 60 536 6 54 5 45 5 45 1 09 2 18 0 0 1121000
AR u 16 143 2% 22 4 33 10 8 & 71 4 3 2 18 1 09 1 09 12 1000
EEERRE 2 196 % 23 45 402 3 27 8 11 0 0 2 18 1 09 6 54 112 1000
AREA I} 2 150 8 183 63 42 14 92 16 105 3 20 3 20 0 0 3200 183 1000
AFE AR 13 159 24 293 17 27 12 146 4 49 3 37 1 12 5 61 3 37 & 1000
AFEA =87 27 166 8 172 49 301 2 135 20 129 3 18 5 31 2 12 6 37 163 1000
ES37 3} 9 108 12 45 2 M9 11 13 11 133 3 36 4 48 1 12 3 36 8 1000

AR} 17 173 15 B3 39 398 7 71 9 92 2 20 4 41 1 10 4 41 9% 1000

a%3% 21 197 3% 263 30 219 14 102 15 109 3 22 2 15 4 29 6 44 137 100.0
AW 14 85 63 384 31 189 19 16 2 122 2 12 2 12 1 06 12 73 164 1000
st 7 75 20 250 49 527 5 54 4 43 1 11 0 0 0 0 7 75 9 1000
EaES 21 233 19 164 49 422 6 52 4 34 1 0.9 1 09 2 17 7 60 116 100.0
Feedst 21 130 40 193] 9% 464 19 9.2 7 34 6 29 5 24 0 0 7 34207 1000
3497 12 9.3 2 L7 67 519 15 116 3 23 1 08 0 0 1 08 2 16 129 1000
#3395 16 150 15 1401 40 374 7 6.5 15 140 4 37 1 09 2 19 7 65 107 100.0
397393} 20 172 11 95 46 39.7 12 103 16 138 3 26 3 26 2 17 3 26 116 1000

H] A 3 6 54 »H 35 324 9 81 10 90 6 54 4 36 3 27 2 18 111 1000

Akgiel el 7 111 9 143 17 270 12 19.0 5 79 3 48 2 32 3 48 5 79 63 1000
EEERNE 8 114 8 114, % 371 8 114 6 86 3 43 2 29 1 14 8 114, 70 1000
A 403 146 55 202 1060 385 240 87 25 82 68 25 52 19 B 14 13 41 274 1000
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<H3-115> 2 A2SS =2 HO| JU=sKl HFR

1) &9 gk 1,216 442
(2) 7t 2%y 1,079 39.2
@) A+ 28y 344 125
4) 7] FF 2%y 115 4.2

FA 2,754 100.0

<H3-115>0AM 2= tiet 20l 22 22352 =2 Hol A=K 60 ol #4HEH ™
Gl SlChet 8 OE0e 801 &4 83%= H &4 OO A= 20 & 16% 20 o
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71 Al 62 504 40 325 15 12.2 6 4.9 123 100.0

71 A4 A 2 63 55.8 36 31.9 11 9.7 3 2.7 113 100.0
HILE R Y 27 55 48.7 40 35.4 14 124 4 3.5 113 100.0
A 43 478 33 36.7 10 11.1 4 4.4 90 100.0
A& 213 38 437 34 39.1 12 13.8 3 34 87 100.0
FE 7)1 A 44 39.3 48 42.9 17 152 3 2.7 112 100.0
27174 Bt 50 44.6 45 40.2 14 125 3 2.7 112 100.0
YA 2 57 50.9 45 40.2 6 54 4 3.6 112 100.0
ERER e 79 51.6 57 37.3 8 5.2 9 5.9 153 100.0
AR 43 52.4 24 29.3 11 134 4 4.9 82 100.0
AFEHA = T 83 50.9 55 337 14 8.6 11 6.7 163 100.0
Exd7g 34 41.0 37 44.6 10 12.0 2 24 83 100.0
FaA A5t 49 50.0 35 35.7 9 9.2 5 5.1 98 100.0
A5 53 38.7 58 42.3 23 16.8 3 2.2 137 100.0
A A5 59 36.0 72 43.9 23 14.0 10 6.1 164 100.0
sh& 3k 3 48 51.6 29 312 12 12.9 4 4.3 93 100.0
&A= 55 47.4 41 35.3 16 13.8 4 34 116 100.0
T 38 425 89 43.0 23 11.1 7 34 207 100.0
37 45 349 55 42.6 23 17.8 6 4.7 129 100.0
w37 g2 4 38.3 44 41.1 16 15.0 6 5.6 107 100.0
AR 47 40.5 47 40.5 17 14.7 5 4.3 116 100.0
1] A 32} 27 24.3 58 52.3 22 19.8 4 3.6 111 100.0
v ARl 3 25 39.7 30 47.6 7 11.1 1 16 63 100.0
s AT 241 3 28 40.0 27 38.6 11 15.7 4 5.7 70 100.0
A 1,216 44.2 1,079 39.2 344 125 115 4.2 2,754 100.0
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19.8
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6.2
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8.5

6.1
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71 A % 41 333 43 350 33 2638 6 49 0 0 123 1000

71 A A 3} 3H 310 34 30.1 34 301 6 5.3 4 35 113 1000
I EZ YA ol 45.1 20 177 38 336 3 2.1 1 09 113 1000
B 31 344 23 256 25 218 10 111 1 11 90 100.0
A& 23 29 333 20 230 21 310 8 92 3 34 87 100.0
371 A% 38 339 36 321 21 241 10 89 1 0.9 112 1000
714 w3t 21 241 37 330 41 36.6 5 45 2 18 112 1000
YA A} 35 313 32 286 36 321 6 54 3 2.7 12 1000
R 43 28.1 45 294 53 346 9 59 3 2.0 153 1000
AFEA RS 24 29.3 28 341 17 2007 12 146 1 12 82 100.0

A TE A 2 H 3 56 344 41 252 51 313 11 6.7 4 25 163 100.0

5873 26 313 21 263 21 325 6 12 3 36 83 100.0
FeA Y4} 36 36.7 28 286 26 265 6 6.1 2 2.0 9B 100.0
a5 37 270 41 299 45 32.8 10 73 4 29 137 1000
Ay %3 3H 213 63 384 39 238 23 140 4 24 164 1000
a3 30 323 21 290 21 29.0 7 75 2 22 9 100.0
RS 36 31.0 33 84 32 216 12 103 3 26 116 1000
ERaiE 65 314 56 211 65 314 18 87 3 14 207 100.0
PR 4 349 34 264 34 264 14 109 2 16 129 1000
#3737 33 308 28 26.2 A 318 9 84 3 28 107 1000
974934 31 267 39 336 35 302 9 78 2 1.7 116 1000
H] A 3} 26 234 33 27 3 207 18 162 1 09 111 1000
Al el ARl st 11 175 19 302 23 365 10 159 0 0 63 100.0
KA N 23 329 19 211 19 211 8 114 1 14 70 100.0
A 844 30.6 800 290 821 298 236 86 53 19 2754 1000
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66.0

59.8

79.1

69.9
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62.0

73.8

774

63.8

74.4

80.6

54.0

55.7

68.8

46
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34
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35

44

51

35

52

33
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33

52
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21
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<H3-126> STMAGHEHI M E6t= AHIAN ol €10 U}=X (R SngE 22

71 Al 18 14.6 40 325 41 33.3 24 19.5 123 100.0

71 A4 A 2 17 15.0 30 26.5 41 36.3 25 22.1 113 100.0
HILE R Y 27 23 204 39 34.5 33 29.2 18 159 113 100.0
R 12 13.3 37 411 30 33.3 11 12.2 90 100.0
A& 213 6 6.9 23 26.4 29 33.3 29 33.3 87 100.0
FE 7)1 A 7 6.3 29 259 45 40.2 31 217 112 100.0
27174 Bt 8 7.1 26 232 62 55.4 16 14.3 112 100.0
YA 2 14 12.5 44 39.3 37 33.0 17 15.2 112 100.0
ERER e 15 9.8 48 31.4 64 41.8 26 17.0 153 100.0
AR 3 3.7 23 28.0 38 46.3 18 22.0 82 100.0
AFE A =" 3 25 153 51 31.3 57 35.0 30 18.4 163 100.0
Exd7g 6 7.2 25 30.1 36 43.4 16 19.3 83 100.0
FaA A5t 18 184 31 31.6 40 40.8 9 9.2 98 100.0
A5 15 10.9 44 32.1 58 423 20 14.6 137 100.0

A A5 9 55 58 35.4 71 43.3 26 159 164 100.0
sh& 3k 3 10 10.8 42 452 32 344 9 9.7 93 100.0
&A= 22 19.0 45 38.8 31 26.7 18 155 116 100.0
T 35 16.9 70 33.8 82 39.6 20 9.7 207 100.0

37 25 194 63 48.8 36 279 5 3.9 129 100.0
w37 g2 14 131 44 41.1 42 39.3 7 6.5 107 100.0
AR 11 9.5 38 32.8 50 43.1 17 14.7 116 100.0
1] A 32} 6 54 58 52.3 36 324 11 9.9 111 100.0
v ARl 3 2 3.2 19 30.2 28 44.4 14 222 63 100.0
s AT 241 3 12 171 17 24.3 27 38.6 14 20.0 70 100.0
A 333 12.1 944 34.3 1,046 38.0 431 156 2,754 100.0
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71 A 2 16 13.0 68 55.3 39 31.7 123 100.0

7] A4 A 2 9 8.0 69 61.1 35 31.0 113 100.0
W7 E 2 Y 27 24 21.2 62 54.9 27 239 113 100.0
B 16 17.8 57 63.3 17 189 90 100.0
A& 213 4 46 47 54.0 36 414 87 100.0
571 A% 15 13.4 64 57.1 33 29.5 112 100.0
A7174 Bt 7 6.3 65 58.0 40 35.7 112 100.0
v A & 23t 11 9.8 67 59.8 34 30.4 112 100.0
AR % 16 10.5 84 54.9 53 34.6 153 100.0
ZAFE AR 2 24 46 56.1 34 415 82 100.0
AFEA =" 10 6.1 98 60.1 55 33.7 163 100.0
Exdd 5 6.0 45 54.2 33 39.8 83 100.0
R R 20 204 48 49.0 30 30.6 98 100.0
53 17 12.4 71 51.8 49 35.8 137 100.0
AW =4 10 6.1 82 50.0 7?2 43.9 164 100.0
stz 3k 3 10 10.8 51 54.8 32 344 93 100.0
=& A =% 23 19.8 59 50.9 34 29.3 116 100.0
T 23 11.1 131 63.3 53 256 207 100.0
74 19 14.7 92 71.3 18 14.0 129 100.0
w374 15 14.0 66 61.7 26 24.3 107 100.0
974G 13 11.2 8 67.2 25 216 116 100.0
1] A 2} 10 9.0 74 66.7 27 243 111 100.0
A H ARl 3 2 32 35 55.6 26 41.3 63 100.0
BRSPS 7 10.0 35 50.0 28 40.0 70 100.0
GA 304 11.0 1,594 579 856 31.1 2,754 100.0
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